7-8-notes.notebook October 08, 2015

S?.s#s S,h0,M,20 15,23 so.5Y,5¢

SQ.S TL\V:_J(_ bag/i fo e I?-"L fwwc/m"}q/a%mﬂ/"‘-\/
op¥ WJ"—I/\/ Y ED Yo Tl of

Y pen®

/&/"‘xﬂfﬂﬁ> G ()= g}((-)clé as @ fwcvzl‘ma of X,
a

C{Qv\e/w J(\C&\»\,\-{'.'c\je (_7/ W’\'é X, WLe np

o o s ides , Whon L0 e+ 3gs
ﬂov\—j 'J' (W4 5 )

J'J@?
- fae A
\g\ 9 A’t Y 67 S wAl %v\j 5

gl &— v g | & K T—-&w [t

Xx—» &0 l Y= Ow



7-8-notes.notebook October 08, 2015

p— ‘}',15‘/’
— dx isconvergentif p > I and divergentif p < 1.
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5-40 Determine whether each integral is convergent or divergent.
Evaluate those that are convergent. +
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Comparison Theorem Suppose that f and g are continuous functions with

f(x) = g(x) = 0forx = a. L&QSjv&

(a) I [” f(x) dx is convergent, then | g(x) dx is convergent. ~ Qo™
. L (o ven o €

(b) If | " g(x) dx is divergent, then | * f(x) dx is divergent. ot

49-54 Use the Comparison Theorem to determine whether the inte-

gral is convergent or divergent.
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55, The integral

= I
{ —=—dx
Jooy/x (1 + x)

is improper for two reasons: The interval [0, 20) is infinite and
the integrand has an infinite discontinuity at (. Evaluate it by
expressing it as a sum of improper integrals of Type 2 and
Type | as follows:
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§6. Evaluate
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J1oxa/xt— 4

by the same method as in Exercise 55.
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